Test Paper - 1 (Std VI) Full Marks = 30
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11.
12.

. According to Indian numeration system, write the number in words :- 18605796

According to International numeration system, write the number in words :- 2864196
Find the prime factorisation of 208

Find the HCF of 80 , 112 and 192 by long division method

Find the LCM of 12 , 26 , 30 and 36 by division method

The product of two numbers is 2560 and their LCM is 320. Find their HCF

Find the value using suitable rearrangement

(a) 25 x 877 x 4
(b) 24 3 44+ 5 + 45 + 46 + 47 + 48

. Find the value by using distributive law

(a) 968 x 73 + 968 x 27
(b) 1063 x 127 — 1063 x 27

. Find the sum of -389 and -1032
10.

Subtract 6240 from -271
Find the sum of 35 + 4 + 63
Find the following

(a) 2 of 12 kg

(b) 2 of ¥2400

Do all work in maths copy



